Cheat Sheet J initiated 18/3/13; continues 2013-12; continued CheatShe};[l;rrt’a;i{:gIl;br::j.er::st/xli?)ie;rgsgieﬁtziF/“;?I/Atz,011()%Il&alxé
With alphabet T and with u,v,w € T, a,B,y € FL(T), D € tdex(T), g, h € exp(tdbex(T)) = TAut(T). Checkmarks
(V') as in CheatSheet]-Verification.nb.

1
1. The definition of J: Ju(y) = f ds div,(y J RC)) J] C,*
0

2. v The J,, equation: Ju(@) + J,(B ) RC%) ) C;* = J,(B) + J(a J| RCP) )] CF
3. v/ The ¢t equation: Lo(y ) tm) = (L, (y) + J.(y ) RCY) ) C.7) | tm)
4. v The h equation: Ju(bch(a, B)) = J,(@) + J,(B ) RCY) || C©
5. v The meaning(s) of RC: C’ |/ RC.” = Id, CY/RG = Rey
6. v C.C, and RC.RC,: CoIRE" B = cPIRG" o RC? Rcﬁ// RC _ RCP ) RCOIRS
7. RC equation ¢ m™ ) RCY/™ = RCY J) RC!FC ) tm®™
8. RC equation A: RCh@P = pce ) RCE/RC
9. C—div—RC equations: div,(e J RC)) ) C) =7 div,(a J C)) J RC) =7
10. div property t: div,,(y / tm) = (div,(y) + div,(y)) J tm)

11. v div property uv: with ad} = ad,{y} := der(u — [y, u]),
(div, @) // ad® —(div, 8) / ad® = div,(« / ad®) - div,(8 / ad®)

12. v div property uu: (div, @) // ad,{B} — (div, B) // ad,fa} = div, ([a,B] + @ // ad {B} — B / ad.{a})
13. The definition of JA: JA,(y) := J.(y) | RC
dJA
14. The ODE for JA: with y, =y // RC,/, JA) =0 (5) = JA(s) / ad,{y,} + div,y,, JA(1) = JA,(y)
s
15. v The growth map T,(y) = B(1). With (0) = 0 and §'(s) = y/e*dls) ) 2L e = A
16. v/ Many-variable growth. With Tq(0) = Tuas(0) = 0, T, (5) = ayffedulseradloh St
and F;a'g(s) — ﬁ//eadu{sa/}+adv{sﬁ}//effrl;:;ﬁ()?l , adu{m +ad,{sB} Cg’zﬁyﬁ(s)arvaﬁ(s)
1 D
-1
17. The definition of j (following A-T): j(e?) = f dse*P(div D) = (div D)
0
18. j’s cocycle property: j(gh) = j(g)+ g j(h)
1—e ady dy 1
19. The differential of exp: de” = e - (63/ / ) ( y // 3 ) e’
ady
1-— e—ady —adoz 1 - e—ad,B
20. /' The differential of y = bch(a, B): Sy | ——— ((5(1/ ) — “‘dﬁ) ((5,8 / a5 )
a
ey _
21. v The differential of C: 6CY = ad, {5y / // RC‘y} J CY
ada _

1
22. / The differential of C,,,, :  6C{P = ad,,. {5&// JRC, %P 5/3//

//RC;‘i,.T.ﬁ } /I Cadt
— e_ ady

1
23. v The differential of RC: S6RC? = RC) / ad, {5y J——/ RC7}

—ady
24.  The differential of J: 8J.(y) = oy // J RCY J/ div, JC.”
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